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1.

(A)

(B)

(C) 'NHIdWdi-iM^lRldl

(D)

2. ^ % -dcMKH # W ̂  ̂3c^TT^ %

(A)

(B) Hm%3ricIW

(C) ̂ TTT^%yfct4)d

(D) =f>l

3. l^^id ?

(A) S^rfeiK

(B) U.«Ml^'=t>K

4. Tjjqf ̂

y+K%^RR#fdiil«^dlt?

(B) ̂ ^FlteKTrlT^^rfMfw

(C) y.=t>iI^=HK

(D) 3icrMll^=^K

5. ^sq^ik^TT ^ MRS^

idMldRdd

MUx _ Px
MUy Py

qr 3nvTftcr

6. 3lQ^iqq^'^U.di4>4^37if-eFTR^MlM ekit:

(A) triMH = <^lHd trii'io

(B) ̂ FTH=^toT-3terq1^^<fqqfkfWTcT

(C) WTH = ̂to-3^W#SRWM

(D) eFTR=^^qTqa7R-ai?nqr3^Tq"

7. ^.q;. qpfto:%qmT%^-"titera"^ m^mm %^\
aq?

(A) fw^siid

(B)

(C) ̂ TBTqqq^-3ra^

(D)

8. P^Ml^lkd ̂  ^ ^ Hi^ai

t?

(A) qc^oqf^srq^'tkk^sTteKPTqq^'^TW

(B) q^ yfd-MlRidi % wq <JcqidH % ̂  wr

(C)

(D) ̂ NRq^qqf ̂^cqjqqqiqRq?)
^^'d'id lddl|3TTtl

qi4 qq W wra" qi^ kqr w 11 sr^qi^q

c = 0-lQ^ - 3Q^ + 50Q + 200

(A) 3Q^-6Q + 50Q

(B) 0-lQ^-3Q + 50

2  200
(C) 0-lQ -3Q + 50 + -Q-

•1 2 200
(D) 0-lQ -3Q +50Q + -Q-
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1. "The Law of Diminishing Marginal Utility" is
based on which of the following principles ?
(A) Positive Utility Analysis

(B) Negative Utility Analysis
(C) Cardinal Utility Analysis
(D) Ordinal Utility Analysis

2. The proportional relationship between production
of a commodity and one variable factor of
production is termed as :

(A) Substitution of factor

(B) Returns to a factor

(C) Returns to scale

(D) Economies of scale

3. Zero-sum game theory refers to which market
structure ?

(A) Duopoly

(B) Monopoly

(Q Monopolistic competition

(B) Perfect competition

4. The state of interdependence between the firms is
a characteristic of which of the following market
type ?

(A) Perfect competition
(B) Monopolistic competition
(C) Monopoly
(D) Oligopoly

5. Consumer

MRS.'XY

equilibrium formula
MUx ̂  Fx

is based, on whichMUy
of the following utility approaches ?

(A) Cardinal Utility Approach
(B) Ordinal Utility Approach
(C) Positive Utility Approach
(D) Negative Utility Approach

2224

The measure of quasi-rent of a firm in the
short-run is:

(A) Rent = Price - Average Cost

(B) Rent = Price — Average Variable Cost

(C) Rent = Price — Average Fixed Cost

(U) Rent = Present Income — Transfer Earnings

Which theory of profit was propounded by J.A.
Schumpeter ?

(A) Risk Theory of Profit
(B) Uncertainty bearing Theory of Profit
(C) Innovation Theory of Profit
(D) Dynamic Theory of Profit

Which of the following is not an assumption of
Pareto Optimum ?

(A) Every person seeks to maximize his

satisfaction.

(B) Due to perfect competition, all the factors of

production are completely mobile.

(C) All things are absolutely indivisible.

(B) The production function of a production

firm is given within a certain period of time.

The total cost function of a firm is given. Choose
the correct answer for Average Variable Cost by
differential method:

C = 0-lQ^-3Q^ + 50Q + 200

(A) 3Q^-6Q + 50Q

(B) 0-lQ -3Q + 50

2  200(Q O-IQ -3Q + 50 + -^

fT\\ 3 2 200(P) 0-lQ -3Q +50Q + -^
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10. :

1. TTT^±2a%3i^95-45%

tl

2. WT^drfl4

tl

3. wmRT ̂  ̂ -M^dc+i ̂  sdtew
t^tl

(A) l,2Trt3^T^TETttt

(B) ^dcri 1 3 <rl^ t

(C) %^2T?^3^t

(D) ̂ dcri lT^2y^t

11. f^cK"i %Ml^ ̂HM'^) [^"cicrw st^H^l: t:

(A) np, Vnpq

(B) Vn^ P. Vn^ P^q^

(C) vnpq. n^P

(D) np, Vnpq

12. TTfe^ L„ Yj = Pi + p2t + Uj't p2 ̂  W
t;

(A)

(B) air^if^^t)"^

(C)

(D)

13.

(A) 4

(B)

(C)

(P)

14.^  TT^nter^ ̂  p = loo - 2Q t

^ WTcT C = 50 + 20Q t, ct ̂

(A) 18

(B) 22

(C) 20

(D) 15

15.

16.

WT(I)Wi:^^t:

(A)

(B) ^rtl ^ =0^11

(C) TT^ HRcfxrH'll ̂ 3H't<(lchK cti<dl

(D) iltrld qil4)(rq4l^^4iK4i<HI

^ Pd = 3x^-20x + 5
Ps=15 + 9x

tt,"^ -drHK^ti qil ^*\\ ;

(A) 1050

(B) 600

(C) 450

(D) 850

^  *v
17. TTPT^f^X = 25-4p + p tttqK^p = 5tf,ct

(A) 0-64

(B) 1

(C) 1-7

(D) 1-2
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10. Statements about normal distribution are given :

1. Mean ± 2 c covers 9545% area.

2. First and third quartiles are equidistant

from the median.

3. The height of the normal curve is at its

maximum at the mode.

Choose the correct statements :

(A) Alll,2and 3 are correct

(B) Only I and 3 are correct

(C) Only 2 and 3 are correct

(D) Only 1 and 2 are correct

11. The mean and standard deviation of binomial

distribution are respectively:

(A) ynp, VnM

(B) n p, Vn' p'q

(C) Vnpq,

P) np,

12. In the model = Pj + p2^ P2 known
as :

(A) Linear rate of growth

(B) Instantaneous rate of growth

(C) Compound rate of growth

(D) Quadratic rate of growth

13. What will be the probability of getting more than
number 2 by throwing an ordinary dice ?

(A) i

(B) 4

(C) T

(D) I

14.

15.

2224

16.

17.

If demand function of a monopolist is
P = 100 — 2Q and cost function is C = 50 + 20Q,
then quantity of output for profit maximisation
will be:

(A) 18

(B) 22

(C) 20

(D) 15

Type I error is :

(A) • Rejection of true hypothesis

(B) Acceptance of true hypothesis

(Q Rejection of false hypothesis

(B) Acceptance of false hypothesis

Pd = 3x^-20x + 5
Ps=15 + 9x

then producer's surplus will be:

(A) 1050

(B) 600

(C) 450

(D) 850

2
If demand function being X = 25 - 4p + p , then
elasticity of demand for p = 5 will be : '

(A) 0-64

(B) 1

(C) 1-7 •

P) 1-2

(5-A)
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18.

19.

If mode = 27-78 and median = 27-73, then
arithmetic mean is:

(A) 27-571

(B) 27-705

(C) 27-125

(D) 27-005

If ZPqQj =450; = 519 and
ZpiqQ = 415-2, then the Paasche's price index
will be:

(A) 125-00

(B) 115-33

(C) 131-31

(D) 120-15

20. List-I gives names of the tests and List-II gives
applications of the tests :

List-I

(i) t-test

correlation coefficient

(ii) F-test (2) Samples from population

of same variance

(iii) ■ Chi-square (3) Goodness of fit

test

Choose the correct match of List-I and List-II:

(A) (iHl), (ii)-(2), (iii)-(3)
(B) (i)-(3),(ii)-(2),(iii)-(l)
(C) (i)-(2),(ii)-(3),(iii)-(l)

(D) (i)-(l),(ii)-(3),(iii)-(2)

List-n

(1) Significance of

21. If covariance between X and Y variables is 10 and

the variance of X and Y respectively are 16 and 9,
find the coefficient of correlation (r):

(A) +0-892

(B) +0-833

(C) + 0-933

P) +0-992

22. Choose the correct option from the following
regarding projections of Global Economic
Prospects Report (January, 2025) related to
India:

1. Indian economy will grow at the rate of

5-7 percent annually.

2. India is projected to remain the fastest

growing large economy for the financial

years 2026 and 2027.

Choose the correct option :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

p) Both 1 and 2 are incorrect

23. Which of the following schemes has been started
to encourage SC, ST and women entrepreneurs ?

(A) Make in India

p) Startup India
(C) Stand-up India

P) Stand out India

24. The concept of Human Poverty Index (HPI) was
replaced by which index in the Human
Development Report, 2010 ?

(A) Multidimensional Poverty Index
p) Poverty Gap Index

'  (C) Sen-Shorrocks-Thon Index

(D) Head Count Index

25. Which of the following'statements is not correct
regarding India's trade performance in the period
April-December, 2024 ?

(A) The total (merchandise + services) exports
showed a positive momentum.

P) The merchandise imports grew by 5-2%.
(C) The rise in merchandise imports was largely

due to rise in non-gold, non-oil imports.
(D) The merchandise trade deficit reduced in the

said period.

2224 (7-A)



2. ^l^ldl ̂  hR«ic?H
dll^ HI51l>dTt^«f)lH^ ̂  d<.5^

3. ^ ̂giTH ̂  ^ t % 31i3T^
(efrlii) ̂  ̂(rui ̂
TTftq^ ̂  ̂  ^ srto
^I

(A) l,2TT^3^Ta^t

(B) %^n?^3^f

(C) %^2T3^3^t

(D) ̂ c4cl 1^2 f'

28.

27. ^ torn % t pMldf^d ^
ic(t:iK cQf^y,:

1. 3T^ 2024 ̂  2024 ̂  31^ if
3TR^t37Tt#H)fJcb 41Icl

5-5 3rfta ̂  ^

f^l

2. ^ ̂ "RmfiRT ̂ 3^ ̂  1^TOT
% I

(A) %^l^t

(B)

(C) iTT#2 4l4iw^t

(D) 113:^2 ̂ UliMdt

29.

30.

ywid dsh «t)4) «f)l MiMi ̂ \^\

(A) ^M'\

3ili<T?I'^3ll^Hlici«t)

3TT^Rf^^i^wi[a«t) Ml\q^-i
R<iln ̂  ̂i^Miia«») M^q^i

R^fd^^^i^MiIach MfiqcY'i
3iNI0 if"3Hl^4l(fl'^)

(B)

(C) xlOO

xlOO

raWtwrfW^T^'t?

(A)

(B) o4lMK >i<lUlHdl ̂ -"^

(C) yWM dsh-^5J^

(D) ^ lti<s.id — ̂Ady,crl

PlHfdi^d

(A) I

(B) 4^ «iWK yld'MlPidi 11

(C) ^^^ftiTRr^11cl=h<icM144idl(MPL)Mt|f

(D) ^cMKd ̂

I

2224 (8-A)



mm

wm
26. Consider the following statements regarding

international trade:

1. Quotas are rigid with respect to quantities.

2. Tariffs permit quantities of imports to

change so that adjustment will occur in

quantities as well as prices.

3. It is tempting to conjecture that economic

changes will, therefore, lead to larger

domestic price fluctuations under tariffs

than under quotas.

Choose the correct statements :

(A) Alll,2and 3 are correct

(B) Only 1 and 3 are correct

(C) Only 2 and 3 are correct

(D) Only 1 and 2 are correct

27. Consider the following statements regarding
Monetary Policy development:

1. In the period April 2024 to December 2024,

the monetary policy committee of the RBI

decided to keep the repo rate unchanged at

5-5 percent.

2. The primary objective of monetary policy

is to maintain price stability.

Choose the correct option:

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are incorrect

28. The elasticity of the offer curve is measured by

(A)

(B)

Proportional change in imports

Proportional change in exports

Proportional change in exports

Proportional change in imports

'  Proportional change in imports ^
Proportional change in e^qraits

Proportional change in exports ^
Proportional change in imports

29. Which of the following is not correctly
matched ?

(A) Product Cycle Theory - Posner

(B) Trade Indifference Curve - Meade

(C) Offer Curve - Edgeworth

(P) Theory of Unequal Exchange — Emmanuel

30. Which of the following assumptions of specific
factors model is not correct ?

(A) There are three factors of production.

(B) There is perfect competition in commodity

and factor markets.

(Q Labour is subject to diminishing marginal

physical product (MP^).

CD) Technology in the production of X and Y is

not identical in both countries.

2224 (9-A)



31.

33.

Mikl

(A) 2050

(B) 2045

(C) 2047

(D) 2057

32. 1^iN7W^'Tm^^p^,2020t^TM^

(A) 112

(B) 114

(C) 116

(D) 118

34.

fejIF 31^ wf^

(A)

(B)

(C)

(D)

#, <+)i4shM ̂  T3^ ^
SSfR Rh'^i, olR^ ̂  3PT^TRT, 3Tn7^

yctiKciPFa Ri-m >31101%:

(B) ^la=Rui

(C) ̂ TZtT-3N^fe^

(D)

35,

36.

37.

38.

(A) •Soc^'^t.sff. ^T?FT^ %
(B) anf.WT.TT^.WWRT^I
(C)

(D)

1. iiA hi4, 1947^^ am fen mi

2. ^ ̂  ^
^imichimsiTi

(A) 1,213:^3^^1

(B)

(C) %^li:i^2^t

(D) ̂ cid 213^3

afk 3nto7 wi^ WT ^ ̂1^

^'t?

(A) ̂

(B) STT^

(C)

(D) 4m41^

sfi?

(A) 2024

(B) 2023

(C) 2022

(D) 2021
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31.

32.

33.

34.

The long-run objective of National Population
Policy, 2000 is to achieve a stable population by
the year:
(A) 2050

(B) 2045

(C) 2047

(D) 2057

What was India's position in the Human Capital
Index, 2020 released by the World Bank ?
(A) 112

(B) 114

(C) 116

(D) 118

Which was the international institution
established after World War II to provide
long-run development assistance to developing
nations ?

(A) Asian Development Bank
(B) European Monetary Fund
(C) World Bank

(D) International Monetary Fund

In India, the family planning programme did not
concentrate on a single method, but adopted what
is generally described as :
(A) The Cafeteria Approach
(B) Top-down Approach
(C) Bottom-up Approach
(D) Hospital Approach

35.

36.

37.

38.

International Finance Corporation is :
(A) a subsidiary of the WTO
(B) a subsidiary of the IMF
(C) a subsidiary of the World Bank
(D) None of the above

Statements about International Monetary Fund
are given below:

1. It started functioning in March 1947.

2. Its purpose was to establish monetary
cooperation among member countries.

3. It provides long-term loans to members to
help them solve their permanent balance of
payments problems.

Choose the correct statements :

(A) All 1,2 and 3 are correct
(B) Only 1 and 3 are correct
(C) Only 1 and 2 are correct
(B) Only 2 and 3 are correct

Which of the following countries is not a
member of Bay of Bengal Initiative for
Multi-Sectoral Technical and Economic
Cooperation (BIMSTEC) ?
(A) Bhutan

(B) Thailand

(C) Sri Lanka

(D) Maldives

In which year was the 5th International Capital
Flows and Financial Policies Workshop held ?
(A) 2024

(B) 2023

(C) 2022

(D) 2021

2224 (11-A)
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39. ^ (PQLI)

MITct1^5TT?

(A) ilHK

■ (B) ^TTIW

.  (C) 3Wc^^

(D)

40. ^Z^a?BTtTT%^Kl y^ilRld 4^1 STT?

(A) ̂  illH

(B) . '

(C)

(D)

41.

iHHl^Ikd ̂ PSRf^ l^-^K =QRliJ.:

^  f, v^ ^ ̂iwft
11

2. iJln i«tHlcii'41 aHHM A % f^y, adl'il ̂  ̂
c^icfl e^^ii 'Held ̂ leTiRi'^

4alN -i^ M^dl 1

:3q^tt^-TETT/^^OT^ t/t ?

(A)

(B) ^=i(n

(C) 1^2M^t

(D) nTt2^?wt

42. 4^1-31 f^^id% 31^,^1^41

(A) ̂  criMi^ %"f^

^ 1|sj% ̂  ^ % #nT

(C) ^<«t)l(l ^

•(D)

43.

d«h^l(l ?

(A) ̂  ̂ sMf^ ̂  ̂ ii?T^ aic^rte m
armf^ % Ito wicR t

e\

(B) ̂ T^'^TTTrfViT^^^ari^J^aMte^
^wfw'^^TTm't

(D) ̂  cT^ sMPt^ ̂  ̂  ^WIR %

44. ai^qf^^#cT

^t?

(A) 3^ PiS^tl^

(B) d=ti*il<^l anin

(C) -i-^ MK^\(\

(D) 5rf^ o2lf^ aTR 3^ ̂FRTW 3^

45. ^TT^^%1^^)RTTfr5^%ai^^TK,rT^i^ft^'EFTf^afk
eni ?

(B) d^'fl^ y^ifd Pi^^i ̂  ^dl % I

(C) cT^vft^ ̂Fif^ arrffe ^ h<<^i5 I^m.
I

(D) <1=^414)1 ^i^nfer h^I
I

46. % TTTS^ t, ̂  a^T^s^s if ̂  ̂
<rid«5M ct5<^ai%?

(A) y<<+)l(l

(B) ^yi ■wic+i, a;^a^41cR
(C)

(D) 3c^K=t)d|if^fe%feT%R't^fe
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39. Who developed the Physical Quality of Life
Index (PQLI)?

(A) Gunnar Myrdal

(B) M.D. Morris

(C) Armartya Sen

(D) Arthur Lewis

40. What was the name of the report published by the

Brundtland Commission ?

(A) The Green Future

(B) Limits to Growth
(C) Sustainable Planet

(D) Our Common Future

41. Consider the following statements regarding
economic policies, to address industrial
pollution:

1. Carbon taxes and subsidies encourage

emission reduction, but designing an efficient

tax regime is challenging.

2. Providing subsidies to industries for adopting

green technology always ensures sustainable

industrial growth without any fiscal stress.

Which of the above statements is/are correct ?

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are incorrect

42. According to Coase's Theorem, voluntary
agreements are used:

(A) To impose taxes
(B) To avoid making any party worse off due to

changes in resource use

(C) To enforce government regulations

(D) To facilitate property sales

43. According to the Lewis Model, surplus labour
transfer will continue until:

(A) Industrial wages fall due to excessive labour
supply

(B) All surplus rural labour" is absorbed.into the
industrial sector

(C) The government intervenes to regulate
wages

(D) Capital accumulation in the industrial sector
reduces employment opportunities

44. According to Nelson, what causes
underdeveloped economies to get trapped in a
low-level equilibrium ?

(A) High rate of investment

(B) High technological advancement

(C) High government spending

(D) High correlation between per capita income
and population growth

45. According to Kaldor's Growth Model, what is the
relationship between technical progress and
capital accumulation ?

(A) It assumes that technical progress depends
on the rate of capital accumulation.

(B) Technical progress is independent of
investment.

(C) Technical progress remains constant
irrespective of economic growth.

(D) Savings and investment do not influence
technological growth.

46. Which factor contributes to the increase in net

output in Meade's Model ?

(A) The increase in government spending

(B) The increase in the capital stock, labour
force and technical progress

(C) The increase in taxes and tariffs

(D) The increase in wages without a rise in
productivity
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(A)

(B)

(C)

(D)

48. 31^ ̂f, W ̂TTOT 2005 ̂

^ 1%^ ̂3^ % 1^ 1%2TT W SIT ?

1.

2.

3. «i($HI

f^ra^:

(A) ̂ citn 1

(B) %^2T3:^4

(C) 1,3TJ^4

(D) 1,2T3^4

49. TTmtelFi^^1^^iW%OTt5THl^WT
t?

(A)

(B) i.\^ Iq-^KrJ =hi4shH (UNDP)

(C)

(D) ̂ TteT3TFTtTT

50. 31^ t 2025 ̂  STFTt^

^f3TTm?

(A) 24-25^5R^

(B) 24-25TO^

(C) 23-24^5R^

P) 23-24^15T^
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51. ■5Tf^-^TT|iR"#WtTR?t:
(A) iI-A|>0

(B) |I-A|<0

(C) [I-A| = l

(D) [I-A| = 0

52. ^-s^^cn ^crTl %«fl'ci m«:M<^14^ ciyl-i PIh
3IcFR^%;

2. yi^Md % 3rTSTft^ ̂  % 1^ MMW

3. ^ HHqu-s %
3rmfii^ ̂  ^ ̂  f I

(A) l,2tT^3^Wtf
(B) %^2T3:^3^t
(C)

(D) %^IT?^3^t

53. RHi^Hdd ^ ̂  ^

(A) 4ilni"l<lld-d
(B) tr^k^
(C)

(P)

54. TT^ if «i'5if^j| J4[^«4i ^ 3rRr^

(A) 2009-10

(B) 2008-09

(C) 2014-15

P) 2007-08
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47. The economy of Madhya Pradesh is mainly based
on:

(A) Agriculture Sector

(B) Industry Sector

(C) Service Sector

(D) Manufacturing Sector

48. In Madhya Pradesh, Janani Suraksha Yojana was
started in 2005 with which of the following

objectives ?

1. Reducing maternal mortality rate

2. Reducing newborn infant mortality rate

3. Increasing girls' enrollment in schools

4. Increasing institutional delivery

Options :

(A) Only 1

(B) Only 2 and 4
(C) 1,3 and 4

(D) 1,2 and 4

49. The Human Development Index is prepared by
which institution ?

(A) World Bank
(B) United Nations Development Programme

(UNDP)

(C) NITI Aayog

(D) Planning Commission

50. When was the Global Investors Summit, 2025

organized in Madhya Pradesh ?

(A) 24 - 25 January

(B) 24 — 25 February

(C) 23 — 24 January

(D) 23 - 24 February

51. The correct Hawkins-Simon condition is :

(A) 1I-A1>0

(B) |I-A|<0
(C) |I-A|=1

(D) |I-A| = 0

52. The correspondence between the Primal and Dual
solutions are described as below:

1. The value of the objective function is

different for the Primal and Dual solutions.

2. The criteria for the primary variables of the

Primal are the solutions of the slack variables

of the Dual.

3. The criteria for the slack variables of the
/

Primal are the solutions for the primary

variables of the Dual.

Choose the correct statements :

(A) All 1, 2 and 3 are correct

(B) Only 2 and 3 are correct

(C) Only 1 and 2 are correct

(D) Only 1 and 3 are correct

53. Which of the following economist is not related
with linear programming ?

(A) Kantorovich
(B) Dantzig

(C) Koopmans

(D) Leontief

54. In Madhya Pradesh the process of gender
budgeting was started in which fmancial year ?

(A) 2009-10

(B) 2008-09

(C) 2014-15

(D) 2007-08
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55.

^ t ?

(A) f^^^^3=E5RFT^ftiTTT^Kt9FTRt I
(B) tT^^awnTf^Tf^%^^^?^FTTri^

^TWT #5n ̂  WT11

(C) 3T^^STT3ff # f^^l^^flcrl <^dl

^ tri^^'i 3T^il^a 5I01 % I •

56. ^3trakTO^C = 20 + 0-80Yj,f^I = T50,
^R^^G = f20 3^^T=^10f^f3TTt,#
y^3?TT^W#TT?

(A) f360

■(B) ^390

(C) ^430

(D) ^410

57. ■2Tf^^3q^W^C = 40 + 0-75YjtC5i:?f C^3q^
^ Y^j ;3M t) ̂  31^ ̂
^?

(A) 0-25

(B) 0-40

(C) 0-50

P) 0-75

58. 4[4^4l-dail^ldy<^Rj

' (A) ^^IHM JjU|=h % «i<N< ^Idl t
(B)

(C) •

(D)

59. IS ii'Ml'aH ch) (^ijlFdl % ?
(A) ^ 3fk 3m % m\^ ^

f^^ = d-dd ^1dlt

(B) 52IM ^ 3^ aiFi % ^hrWr ^
^ ̂  3Tr^ = ^ TIK ̂ tcft %

(C) ^ aTFT % ^

(D) ^3IR ^ 3:^1: aTR % ^
®2TR ̂  = "jsr ̂  ̂  ?fcfr t

60. Ml^d)crl?r^%aR^nT, ̂ <^P|chW Rnldi^d^^
ddU^dlt?

(A) •^'itioqi <^nk
(B) ^ci<n cQ cti^l
(C) ^^Hld diK^JI
(D) ^c|<rl ^ ̂itft

61. Mi^d%^tpHf^R^d^t^-^

4Mdl J/rtdt?

(A)

^ W TTRT W 11
Os

(B) ®4M ̂  ̂  ̂  ^
TTRT^^I^t I

(C) M^^fMd'^tj^^ta^aTRRaTR%
^^kH<h 4>dHt I

(D) f^M M ^ ̂  ̂ f qteSi % 31%
'  Cs Cs

62.

(A) 3RT^#<^<-dHkH^ MkdtlH

(C)

(D)
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55. Which statement is not correct regarding the
assiunptions of Hicks' business cycle theory ?

(A) The upper limit of expansion is full
employment.

(B) Even after entering a recession, autonomous
investment continues to grow at a nearly

constant rate.

(C) The accelerator remains active in all stages
of business, but the multiplier ceases to
function in recession.

(D) Changes in consumption and investment
affect the balance of the entire economy.

56. If consumption function C = 20 + 0*80 Y^,
Investment I = ? 50, Government Expenditure
G=^20, TaxT = ̂ lOis given, then what will be
equilibrium output ?

(A) ̂ 360

(B) ^390

(C) ̂ 430

(D) ̂ 410

57. What is the Marginal Propensity to Consume in
the consumption function C = 40 + 0'75Y^j (where
C is consumption and is disposable income) ?

(A) 0-25

(B) 0-40

(C) 0.50

(D) 0-75

58. If marginal propensity to import is zero, what
happens to the foreign trade multiplier ?

•  (A) It becomes equal to the ordinary multiplier
(B) It becomes greater than the ordinary

multiplier

(C) It is zero

(D) It becomes less than the ordinary multiplier

59. The IS curve represents the combination of: -

(A) Interest ' rate and income where
Investment ̂  Savings

(B) Interest rate and income where
Money supply = Money demand

(C) Interest rate and incorne where
Tax = Government Expenditure

(D) Interest - rate and income where
Interest rate = Money demand

60. According to Michael Todaro, underdevelopment
persists due to which of the following factors ?

(A) Only population growth

(B) Only lack of technology

(C) Institutional factors

(D) Only lack of capital

61. Which of the following assumptions on
Mundell-Fleming model is incorrect ?

(A) Change in the size of budget surplus can be
treated as an index of Fiscal Policy.

(B) Change in the rate of interest can be viewed
as an index of Monetary Policy.

(C) Exports are exogenously given and imports
are a positive function of income.

(D) Foreign capital is not sensitive to the
movements in the domestic rate of interest.

62. According to Kindleberger, economic growth
refers to:

(A) Structural transformation in production
(B) Technological innovation

(C) An increase in output

(D) Improvement in institutional changes
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64. ^c(el % "^1^
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(A)

(B)
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(D)

65. d=h41«^l €r 1^ % OT ̂
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(A)

(B)
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(A)
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(C) (A)a^k(B)^

(D)
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(C)

(D)

67.
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68.

69.

70.

71.

72.
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(B)

(C) #te
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(B)
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(D)

-A)



63. In Cost-Benefit analysis, if the benefits are more
than the cost, then the nature of the project is:

(A) Beneficial to continue the project

(B) Not beneficial to continue the project

(C) Possible to continue the project

(D) Not possible to continue the project

64. Not only is there a potential conflict between

employment and savings in the choice of
techniques, but also:

(A) A conflict between employment and output

(B) A conflict between input and output

(C) A conflict between labour and capital

(D) None of the above

65. Which economist has given the concept of
technological dualism ?

(A) J.H. Boeke

(B) Gunnar M^dal

(C) M. Myint

(D) Benjamin Higgins

66. Which one of the following is/are most important

in the selection of Production Technique ?

(A) Production function

(B) Relative prices of factors

(C) Both (A) and.(B)

(D) None of the above

67. In the Centre-Periphery Model, ̂ Centre' refers
to;

(A) Advanced Area

(B) Less Developed ̂ ea
(C) Backward Area

(D) Developing Area

2224

68.

69.

70.

71.

72.

Which of the following is not an objective of
planning ?

(A) Rapid growth

(B) Increase in inequality

(C) Modemization of Agriculture

(D) Expansion of Public Sector

The entire scope of activities of NITI Aayog can
be divided into how many heads ?

(A) 3
(B) 4

(C) 5

(D) 6

Who has propounded the "Cumulative Causation
theory"?

(A) Liebenstein

(B) Friedman

(C) Hirschman

(D) Gunnar Myrdal

In which Five Year Plan was the fnst four-sector

model of economic growth adopted ?

(A) First

(B) Second

(C) Fifth

(D) Eighth

What is one of the principal objectives of
planning in underdeveloped countries ?

(A) To increase the rate of economic
development

(B) To increase the rate of economic growth

(C) To increase the rate of economic growth and
development

(D) None of the above

(19-A)

\



73.

wtI,

#^nflr%^Trti

#^ti

3. ^J|dH

^ TTFT ^ %
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(A) l,2l3;^3^^t
(B) %^lTi^2^t
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75.
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(D) 3TtM^ M«iidl 0>flMK I

77.

(A) Pl^iifl 4)1^4 ̂ ^gd^cT^HHT
(B) l^^i([l ^1I<3H =Q ■t41<J)fa
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(D)

78. ^ddH ^Mu| :
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3. t % 37FTmt 3^ ^ ̂
e\ ^

dl^dkt

(A) lTi^2^^t
(B) 2^3
(C) l"^^3 4lHl^H^f
(D) l,2T3^3^^t
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73. Statements are given:

1. An economic transaction is entered in the

balance of payments as a credit, if it leads to

the receipt of payments from foreigners.

2. Gift to foreigners is a debit in the capital

account.

3. The concept and the measure of a deficit and

a surplus in the balance of payments are

strictly appropriated only under a fixed

exchange rate system.

Choose the correct statements :

(A) All 1,2 and 3 are correct

(B) Only 1 and 2 are correct

(0) Only 1 and 3 are correct

(P) Only 2 and 3 are correct

74. The current rate of exchange between India and
the U.S.A. is^ 1 = 13 cents. Now this rate changes
to ̂  1 = 14 cents. Statements are giveii below :

1. New rate of exchange is unfavourable to

U.S.A.

2. New rate of exchange is unfavourable to

India.

3. New rate of exchange is favourable to U.S.A.

4. New rate of exchange is favourable to India.

Choose the correct statements :

(A) Only 1 and 2 are correct

(B) Only 1 and 4 are correct

(0) Only 2 and 4 are correct

(D) Only 3 and 4 are correct

75. If the demand for foreign currency increases and
the supply remains constant, then the foreign
exchange rate will:

(A) Decrease

(B) Remain unchanged

(C) Increase

(D) Be indeterminate

76. Which of the following is not an assumption of
Haberler's opportunity cost theory ?

(A) There is perfect competition in the goods
and resoiurce market.

(B) The price of each factor is equal to its
marginal productivity.

(C) The supply of resources is variable.

(D) The economic system is in full employment
equilibrium.

1/
77. Hedging refers to:

(A) Covering of a foreign exchange risk

(B) The acceptance of a foreign exchange risk
(C) Simultaneous buying and selling of a

foreign currency in two markets

(D) Where the delivery of the foreign exchange
has to be made on the spot

78. The elasticity approach to balance of payments
is;

1. Related to the price effect of devaluation

2. Related to the income effect of devaluation

3. That supplies of exports and imports are

perfectly elastic

(A) Both 1 and 2 are correct

(B) Both 2 and 3 are correct

(C) Both 1 and 3 are correct

(D) 1,2 and 3 all are correct
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79. According to the Endogenous Growth Theory,
what is the key determinant of long-term

economic growth ?

(A) Long-run growth is driven solely by capital

accumulation and physical infrastructure

investment.

(B) New knowledge is the ultimate determinant

of long-run growth which is determined by

investment in research technology.

(Q Growth occurs due to" government

intervention rather than innovation in

private sector.

(P) Developing countries naturally grow with

developed nations regardless of investment

in technology and innovation.

80. According to the Doctrine of Balanced Growth,
economic development requires :

(A) To invest only in backward sectors to bring
them at par with others.

(B) Focus solely on the domestic sector and
neglecting exports.

(C) Uncoordinated investments in different
industries to ensure market efficiency.

(D) There should be simultaneous and
harmonious development of different
sectors of the economy so that all sectors
grow in unison.

81. What is the primary reason that underdeveloped
countries remain in poverty, according to
Leibenstein ?

(A) High population growth

(B) Lack of natural resources •

(C) Vicious circle of poverty and low per capita
income equilibrium

(D) Dependence on foreign aid

82. According to the Lucas Model, what is the key

driver of economic growth ?

(A) Investment in physical capital

(B) Foreign trade

(C) Investment in human capital

(D) Government subsidies

83. Which of the following economists does not

agree with the statement that "Human Resources
are helpful in economic development" ?

(A) Prof. Arthur Lewis

(B) Prof. Hirschman

(C) Prof. Singer

(D) Prof. Adam Smith

84. According to Paul Romer, why are developing
nations unable to achieve the same economic

growth as industrialized nations ?

(A) Lack of access to the ideas used in industrial

nations to generate economic value

(B) Inability to attract foreign direct investment

(Q Excessive population growth leading to

resource depletion

(D) Over-reliance on agriculture and primary

commodities

85. "Economic development is a process whereby an
economy's real National Income increases over a
long period of time." This statement is given by:

(A) Prof. Kuznets

(B) Prof. Meier and Baldwin

(C) Prof. Lewis

(B) Prof. Robbins
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86. According to Mrs. Hicks, the concept related with
incidence of tax is/are :

1. Formal incidence

2. Effective incidence

Which of the above is/are correct ?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) None of the above

87. A ratio of proportionate change in tax revenue to
a proportionate change in tax base is called:

(A) Elasticity of a tax

(B) Buoyancy of a tax

(C) Relativity of a tax

(D) None of the above

89.

88. Assertion (A) : According to Keynes, market
economy suffers from deficiency of effective
demand.

Reason (R): With increase in income, marginal
propensity to consume, and with increase in
investment, marginal efficiency of capital, that is
proportional marginal profitability decreases.

(A) Both (A) and (R) are true, but (R) is not the

correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the

correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

90.

91.

2224

92.

If Y = income, T.,f tax revenue, U(Y) = total
utility of income, dU = marginal utility and
U(Y - T) = total utility after tax of income, then
equal marginal sacrifice will be :

(A)

(B)

(C)

(D)

U(Y)-U(Y-T)

U(Y) - U(Y - T)
U(^

dU(Y - T)

d(Y - T)

None of the above

Which of the following is not a method of
redemption (repayment) of public debt ?

(A) Debt conversion
(B) Terminal annuity
(C) Capital levy
(D) Issue of debentures

Which of the following is not a part of non-tax
revenue receipts ?

(A) Interest Receipts

(B) Dividend Receipts

(C) Profit Receipts

(D) Market Loan Receipts

Type(s) of tranfer to reconcile imbalances in
intergovernmental financial resources is/are :
1. Tax sharing

2. Grants

3. Loans

Which of the above is/are correct ?

(A) Onlyl

(B) Only 2

(C) Only 3

(D) All of the above
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93.

2. ̂  # ̂THf^ ̂  sAt ^

3. TT^d#5qg^maT:i^^n=gWT^^1M%
V3

I^^cil'ti

e\

(A)

(B)

(C)

(D) l,2T^^3?T^^t

94. ^el4^lPlch ̂ 5il fAnf^Rdd

(A) 3j1!3TTt (UPI) ̂  WRIW % 1^

(B) (Paytm)^^I^^[sr^<nn

(C) ̂  (RuPay) M.<*i y^i< ̂ i Isl^dcri I

(D) 3TRM^^r(RTGS)#T^^^^#cfr

95. m = M = ^ ^
H = ̂ ^-^t, (m) ̂RH#TT:

M
(A) m = H

II

(B) m = M

(C) m = H X M

(D) m = H + M

96. «ll53iK%"SM-shlyi ̂ :

1.

2.

3.

4. ti<chi'0 yia^fa^i
Cs

(A) Ai«(crl 1 2

(B)

(C) %^3T?^4

(D) %^n?^4

97. ̂  ̂\m PlMl^Rdd # ̂ fel TO ̂  MW ̂
^ilcTTt?

(A)

(B)

(C) ̂

(D) f4PlM4 W(f^

98. PinRlfi^d

^^'1?

(A)

d^cf h41<^ci f I
(B) ^l<.«n^l^ ^ R^H«h 3^

yif^=+)<uit I

(C) ̂ ^^3Nfxr 1904 %
3Tfllf%R% I

(D) 3TK#5nf^f%t%t^Hf^Tl y^H d)<dltl
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93. According to Friedman, the natural rate of
unemployment is :

1. The rate below which the inflation rate

decreases and above which the inflation rate

increases.

2. The rate at which the actual rate of inflation

and the expected rate of inflation are equal.

3. The rate at which the economy usually

survives because of its structural flaws.

Codes:

(A) Only 1 and 2 are correct

94.

(B) Only 2 and 3 are correct

(C) Only 1 and 3 are correct

(B) 1,2 and 3 all are correct

Which of the following is not correct regarding
electronic money ?

(A) UPI enables the creation of a virtual address
for money transfer.

Paytm is a kind of digital wallet.
RuPay is a kind of digital card.
There is an upper cap on RTGS transactions.

(B)
(C)

(D)

95. If m = money multiplier, M = total supply of
money and H = high power money, then the value
of money multiplier (m) obtained will be :

M

(A) m= H

H

(B) m=M

(C) m = H>« M

(D) m = H + M

96.

97.

98.

Financial market instruments are :

1. Promissory Note

2. Treasury Bifis

3. Mortgages

4. Government Securities

Which of the above are money market
instruments ?

(A) Only 1 and 2

(B) Only 2 and 3

(C) Only 3 and 4

(D) Only 1 and 4

Which of the following forms is not used by the
capital market ?

(A) Shares of Industrial Units

(B) Letter of Credit

(C) Bond

(B) Bills of Exchange

Which of the following statements is not correct
regarding Cooperative Banks ?

(A) These banks are registered under

Co-operative Societies Act of the Central

Government.

(B) RBI is the regulatory and supervisory

authority of the Central Government.

(C) They originated with the enactment of the

Co-operative Credit Societies Act of 1904.

(B) RBI extends refinance to these banks.
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99. W^'t ?

(A) cQ^d ̂iRlccl

(B) fdPlH'M ̂ ^ R^<dl

(C)

p) 3TTffe^

100. wftn#>5f)dH -ds+i
NO

1. 1^ odrf? ̂  wif" ^

ytSJil^id ^*ldi 11

2.

yRid I

(A) 1^2^T^t

(B) 2TT^3B^t

(C) lT3:^3Wtt

(D) l,2TT^3^^(^t

101. ^ 3M M Rcb^rMH 1 THTR (Ratchet

effect)

(A) ̂  eM # 3TR ̂  t, ̂  ̂3^ ̂3cmk

(B) ̂  #fft # 3TBf ̂  ̂ t, ̂  ̂3^ ̂3q^

f^wrtl

(C) i3^^2rf^^^3q^w5rt3TRf^?n3Tf3^

^TT^I^ni dii Hien eldi % 1

(D) «jRt) ̂  >3<H<^1 d^^HH 3TR% q-ajM

q^tyikl Pll^-dd 3TR^M^TOTtl

2224 (28

102. ̂ T^^nffechtrMlui^ld ch<^%fdl<diwid<+i <I'^'M

(A)

(B)

(C)

(D)

103. ̂ ^3q^WTC = 40 + 0-75Y fd4MI411, cit^

<d^d 4>dH 441 ̂ >11 ?

(A) S = 40 + 0-75Y

(B) S = 40-0-75Y

(C) S = 0-75Y-40

(D) S = -40 + 0-25Y

104. ̂  ̂fter ̂ 34^ 51^ (MFC) ̂  ̂ 0-60 t, ̂
4^dy«^Rl44lt?

(A) 0-30

(B) 0-40

(C) 0-50

(D) 0-60

105.

n^f:

tl

2. 37^ W 31^ ftoK ̂
N5 es

3. 17^ ̂  ^ ̂ % 1^ ^
■  <Hdi14l4 4lfd^^feTI

C\

(A) 1^2dlHly^t

(B) 2XTt3^Wt|

(C) l^Sdldi^^t

P) l,2Ti^3^^t

kAO
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WM
99. Which of the following is not an objective of

Monetary Policy ?

(A) Price stability

(B) Exchange rate stability

(C) Economic and social upliftment of weaker

sections

(D) Economic growth

100. According to' the Life cycle hypothesis of
consumption:

"1. A person's consumption is also a function of

his expected income over his lifetime.

2. A person's consumption also depends on his

current accumulated assets or wealth over a

period of time.

3. Consumption in a period depends only on the

current income of that period.

Choose the correct code :

(A) 1 and 2 are correct

(B) 2 and 3 are correct

(C) 1 and 3 are correct

(D) 1,2 and 3 all are correct

101. The Ratchet effect in the relative income

hypothesis of consumption shows that:

(A) When people's income decreases, their
consumption does not decrease much.

(B) When people's income decreases, then-
consumption remains stable.

(C) An individual's consumption is a function of
his relative position in the income
distribution in society.

(D) An individual's consumption depends on his
fixed income received in the past rather than
his current income.

102. Which of the following items should not be
subtracted from real national income to determine

net economic welfare ?

(A) Depreciation

(B) Environmental pollution
(C) Regrettable costs

(D) "Value of Leisure

103. If the consumption function is • given by
C = 40 + 0-75Y, then what is the corresponding
saving function ?

(A) S = 40 + 0-75Y

(B) S = 40-0-75Y

(C) S = 0-75Y-40

(D) S = -40 + 0-25Y

104. If the value of the Marginal Propensity to
Consume (MFC) is 0-60, then what is the
Marginal Propensity to Save ?

(A) 0-30

(B) 0-40

(C) 0-50

(D) 0-60

105. The following statements are given related to
Keynes' employment theory:

1. The rate of interest is determined by savings

and investment.

2. The state of equilibrium is possible even in

the case of incomplete or under employment.

3. Keynes emphasized on fiscal policy to

overcome recession and unemployment.

Codes :

(A) 1 and 2 are correct

(B) 2 and 3 are correct

(C) 1 and 3 are correct

(D) 1,2 and 3 all are correct
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106.

^-I ^-11
e\ cn

(i) 1. 4-4%

(ii) TR^Wr 2. 1-5%

(iii) iNWMld 3. , 0-3%

(iv) wrfrr^wr 4. o-8%

(A) (i)-l,(ii)-2,(iii>3,(ivH

(B) (i)-2, (ii)-3, (iii)-4, (iv)-l

(C) (i)-3,(ii)-4,(in)-l,(iv)r2

(D) (i)-4,(ii)-l,(iii)-2,(iv)-3

107. ^ ̂3^ WT ^

^-I
©V

(i)

(ii)

(iii)

(iv) ^

^-n
Ov

1. 1953

2. 1957

3. 1958

4. 2004-05

(A) (i)-l,(ii)-2,(iii)-3;(iv)-4

(B) (i)-2, (ii)-3, (iii)-4, (iv)4

(C) (i)-3,(ii)-4,(iii)-l,(iv)-2

(D) (i)-4,(ii)-l,(iii)A(iv)-3

108. ai^r^RcbRid t 41Id :

(A) ' '

(B)

(C) ̂ t?FTR%

(P)

2224

109. ̂  M = 1000, V = 4, T = 2000, M' = 500, V' = 2,

d«l cQ^d ^'W :

(A) 1-0

(B) 1-5

(C) 2-0

(D) 2-5

110. Mdtfit,^^1!%:

(A) ̂ Mid «|-dd ydRl I

(B)

^ Site iw Mot ̂  11

(C) 4Nld4 wrt 1

(D) •^H\ ^K'Ji '=n<^ <=R

111. RnRii^d tt#T-¥T^JSR3^t^%^^TRiTFr
Rl<fikid %3n^TR^Tc^^'t?

(A)

RihA ̂ 41 MIK1 ̂ ai 11

(B) y.«tj 1

(C) Fsnr^Whrf^dmr^^tl
(D) % CAl4^ldlH 4i(rn ̂  ®^lT5r cril"^

^tl

112. ^ WT % tfeirf % t RMfdRdd

MHl <4)4 1
sD •

tl

RichcrM -dRi<:

(A)

(B)

(C) lTT^2dlHiy^t

(D) 1^2^?wt

(30-A)
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106. Match the following according to budgetary
estimates 2025 - 26 of India:

List-I

(i) Fiscal deficit

(ii) Revenue deficit

List-n

1. 4-4%

2. 1-5%

(iii) Effective Revenue deficit 3. 0-3%

(iv) Primary deficit 4. 0-8%

Codes :

(A) (i)-l,(ii)-2,(iii)-3,(iv)-4
(B) (i)-2,(ii)-3,(iii)-4.(iv)-l
(C) (i)-3,(iiH,(iii)-I,(iv)-2

(D) (i)-4.(ii)-l,(iii)-2,(iv)-3

107. Match the following taxes according to the year
of introduction:

List-1

(i) Estate Duty

(ii) Wealth Tax

(iii) Gift Tax

List-U

1. 1953

2. 1957

3. 1958

(iv) Securities Transaction 4. 2004 - 05

Tax

Codes:

(A) (i)-l,(ii)-2,(iii)-3.(iv)-4

(B) (i)-2. (ii)-3, (iii)-4, (iv)-l

(C) (i)-3,(ii)-4,(iii)-I.(iv)-2
(D) (i)-4,(ii)-l,(iii)-2,(iv)-3

108. The objective of Fiscal Policy in underdeveloped
countries is :

(A) To control the supply of money

(B) To set interest rates of banks

(C) To increase employment opportunities

(D) To control population

109. If M = 1000, V = 4, T = 2000, M' = 500, V' = 2,
then the value of price level will be:

(A) 1-0

(B) 1-5.

(C) 2-0

(D) 2-5

110. Bank credit decreases with every increase in
money supply, because:

(A) Marginal propensity to save remains
constant.

(B) Banks may also create more or less credit
due to leakages in the credit creation
process.

(C) The velocity of circulation of money
remains constant.

(D) People's willingness to hold currency
remains stable relative to deposits.

111. Which of the following statements is not true
according to Friedman's quantity theory of
money ?

(A) Money includes currency, demand accounts
and time accounts, in which deposits receive
interest.

(B) Money is a luxury item.
(C) Money is an asset or capital good.
(D) The long-run demand fimction for money

has high interest elasticity.

112. Consider the following statements regarding
Baumol's theory of demand for money:

1. Transaction demand for money increases in

lesser proportion to the increase in real

income.

2. Transaction demand for money is directly

related to rate of interest.

Choose the correct option :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are incorrect
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113.

(A)

(B) ^cllf^«hK

(C)

TK

114. ^ ^ (ildNci ^lfe3TT

HiMolei qicii^Pi'Ki'd,

RnlciRaci <<adl ®TT?

(A) wn^

(B) 3lRr:W

(C) qtei^

p)

115. fHHRiHdd y.<^) ylo<ilPioi

(A) 'wf % y.d ^ 'wd^idi

p)

(C)

(D) idsti4elHld

116. ^.chlf^^ld

^dTTj^IBf:

1. RH# «l)lHd 3ltei'dt I

2. ^3R^^fhdrr3TT^ I

3.

(A) lTr^2Rdtt

P) 2R^3?T#f

(C)

(D) l,2TiR3^Rdtt

117. kumIcti 'SRT Nt^a fy^id ̂
i^Hldfikd wr wrt ?

1. ^3d^<+)dH \kshM 3Tsd^3d^+dH ̂ oi STPW
% ̂3^ ̂  RRR" 11

2. Mid ̂  ̂Rl'^dH ̂ MlH yi^ ̂'11,

3. WjlMchdl ̂ cH 11

I^Mldl^d Hi\%7

(A) lTTt2^f

P) 2T?^3^t

(C) li?:t3^t

(D) l,2R^3^^t

118. 3Tt^^ \^<\H H*sn
(A) ̂ S\lW^[d 3d^^Osildid ^«i'£T
P) GDP^3di:^<1idJll(l%«n^ ddy

(C) <ai| ̂1< »;^5\i^fd % 41^
(D)- f^ctiiy %ofl"^

119. WRWTd"R^<l'^4 aiFT^WTT^^sndtt:

(A) ̂ RR ^ ̂  d ^
Mdldil

(B) dMK ^ ̂  'idHid d 3TOrW ̂
3d^ ̂rfsRit

(C) ̂ mK ̂  ̂  t m
»rl^^ 3h^iTf®Rfr

p) ^ ̂  d Rc^ ̂
*M<ndi< adr ^l-s=ti<,

120. ^ ̂ cfj/sj).'3J •37795 -STT^
dW' HIMdi MW<+ Rl<dl t ?

sa

(A) aTofeRT^

p) rsrIot

(C)

p) MTH"
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113. When only one firm in the factor market provides
employment to the factors, this is the state of
market:

(A) Monopoly

(B) Monopsony

(C) Duopoly
(D) Perfect Competition

114. In Kautilya's administration system, which of the
following officers kept a watch on preventing
adulteration, selling of substandard goods and
goods weighing less ?

(A) Panyadhyaksh

(B) Antapal

(C) Potwadhyaksh
(D) Sansthadhyaksh

115. Which one among the following is not a
characteristic of monopolistic competition ?

(A) Freedom of entry and exit of firms

(B) Product Differentiation

(C) Price Discrimination

(D) Selling Cost

116. The equilibrium of a rational monopolist will be
at the output level where :

1. Its price elasticity of demand is greater than

one.

2. Its marginal revenue is positive.

3. Price elasticity of demand is less than one.

Choose the correct alternative :

(A) 1 and 2 are correct

(B) 2 and 3 are correct

(Q 1 and 3 are correct

(D) 1,2 and 3 all are correct

117. Which of the following statements related to the
managerial theoiy of the firm presented by
Baumol are correct ?

1. The firm follows the objective of maximum

sales, i.e. maximum total revenue.

2. The firm will get maximum revenue at the

point where elasticity of demand is equal to

unity.

,  3. The firm gives priority to sales over profits.

Which option is correct from the following ?

(A) 1 and 2 are correct

(B) 2 and 3 are correct

(C) ■ 1 and 3 are correct

(D) 1,2 and 3 all are correct

118. What does Okun's Law primarily describe ?

(A) The relationship between inflation and
imemployment

(B) The relationship between GDP growth and
unemployment

(C) The relationship between government
Spending and inflation

(D) The relationship between interest rates and
economic growth

119. National Income at Factor Cost is calculated by :
(A) Adding indirect taxes and subtracting

subsidies from Net National Product at

Market Price

(B) Subtracting indirect taxes and adding
subsidies from Net National Product at

Market Price

(C) Adding direct taxes and subtracting
subsidies from Net National Product at

Market Price

(D) Subtracting direct taxes and adding
subsidies from Net National Product at

Market Price

120. Who has written the book "An Enquiry into the
Nature and Causes of Wealth of Nations" ?

(A) Alfred Marshall

(B) Adam Smith

(C) Lionel Robbins

(D) Paul Samuelson
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121. R'^l

^3n^%,7Tt^ci^"lq ctiecliai §:
(A) 'Miii

(B)

(C) 5Tmtowr

(D) u^sR^'^nzr

.122.

^-i ^-n
(i) I^tI 1. Rie

(ii) 2. ■sicrt'1

(iii) Trff3T%^^fen^KTFT 3. T^.^.
(iv) Wnf^T^cTFT 4.

ev

(A) (i)-3,(ii)-2,(iii)-l,(iv)-4

(B) (i)-3.(ii)-l,(iii)-4,(iv)-2

(C) (i)-2,(ii)-3,(iii)-l,(iv)-4

(D) (i)-l.(iiH(iii)-3,(iv)-2

123. <hi4'^R<^) o^FT % Ri«s.ld ^
1^:

(A)

(B)

(C)

(D) k,r<«t> Ri"si^ %

124. WtT t ̂  ̂  ̂
^  SIT ?

(A) 4t.3TK.
(B) 4t.%.3TR.4t. TR

(D)

125. '3R4te'^i^^teT3l4^rR4t^1^siT?

(A) H^KHi mM
(B) <\H dlfi'HI

(D) %.%. ̂ ^cTT

126.

(A)

(B)

(C) ^
(D)

127. 3^M444 RloS^id eTFJJT^'^tcITt:
(A)

(B) TETFTTte^^^
(C) M
(D)

128. ^-armito ^ 3TTW 1973 ^ l[FT
|3TT?

(A) %Pi41 qil^i(^=t) 4=d
(B)

(C) 4=t)
(D) TjjlFTTffe^rofe
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121. When interest payments are subtracted from gross 124. Whose thesis i., was titled, "Provincial
fiscal deficit, then balance is called : Decentralization pf Imperial Finance in British
(A) Capital deficit India" ?

(B) Monetary deficit
(A) Dr. B.R. Ambedkar

(C) Primary deficit
(B) V.K.R.V.Rao

(C) Periyar Ramasami
(D) Revenue deficit

(D) Brahmananda

125. ̂ ich economist's thinking was related to

122. Match the following : 'Antyodaya' ?

List-I List-H
(A) Mahatma Gandhi

(i) Functional finance 1. Baljit Singh
(B) Ram Manohar Lohia

(ii) Activating finance 2. Dalton
(C) Deendayal Upadhyaya

(D) J.K.Mehta
(iii). Increasing state 3. A.P. Lemer

activities

(iv) Maximum social 4. Wagiier 126. Who used the term 'Gram Sarvodaya' in his

advantage philosophy ?

(A) Kautilya

Codes: (B) Naoroji

(A) (i)-3, (ii)-2, (iii)-l, (iv)-4 (C) Kale

(B) (i)-3, (ii)-l, (iii)-4, (iv)-2 (D) M.K. Gandhi

(C) (i).2, (ii)-3, (iii)-l, (iv)-4

(D) (i)-l, (ii)-4, (iii)-3, (iv)-2 127. Exclusion principle is not applicable to these
goods: ■^
(A) Intermediate goods
(B) Social goods

(C) Private goods
123. Voluntary Exchange Theory of Public (D) All goods

Expenditure was propounded by:
(A) Keynes

128. Zero-based budgeting was started in 1973 by:
(B) Adam Smith (A) Private commercial bank in America
(C) Dalton (B) British Parliament

(D) Erik Lindahl (C) World Bank

(D) Asian Development Bank
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129.

1. Wif ^ ̂ \kUHii ̂  12 = 200 ̂

l = 16-67MtcTsftl

2. MWlIu|+ 'T7UT' SJT,

ar^H"! (aT3^),
(^aTT^ y-clRld ̂  I

3. ̂  "5^ IdPlH'M <^qMIK ̂  ̂  'jW
HIW4H^«t5l4 «d<cn ̂ \

e\

(A) %^lT3^2^t

(B)

(C) %^lT3:^3^t

P) l,2^3:^3^0ft^t

130. ^ cllPlI^et, Tt

PimRiI^h ^ Id-ciK :

1.

S, ̂  gST ^ ̂ 1
2. fnr-fe ;g^sTR If# # ai^

arte ̂3iTTH?r ̂  ̂ # f I

3. diPii^di cf^n" "f^rfhr Tf$zRsr

#fr # #T WTT

wMjT.^t I

PtdicrH :

(A) 1

p) ̂dcn I^2^#f

(C) %^2T3^3^f

(D) l,2T3:t3^^t

131. WcT t IT* t# % ̂  ̂ 1¥=#lter t ̂

*-^TTTH^W^"t?

arm^###!

(B) WTmWaTTiam#l975^wte1^7n^^l

(D) vm WiPird VTR^ BITO, TT^ afk
qipif^c^ ̂ Vl %Hlt1 I

132. \h\4 ̂ ch^^PhO cblM#Ilfwr#%Pll^=T^d
^  i§# t I "^^-i ̂  irfliOT

^-i ^-n
e\ Cv

(i) lf^|f^##5r 1. yt
PTC)

(ii) 'tel^'^'^SFT) 2.
pBSC)

(iii) <j3pl ̂ PhM 3.
(CAB)

(iv) arkf^ct) ypm 4. ̂ r#,#d4iidl,^#^Tf
(ZTC) a^H^

e»

(A) (i)-2, (ii)-3, (iii)-l,(iv)-4

(B) (i)-4, (ii)-3, (iii)-2, (iv)-l

(C) (i)-3,(ii)-l,(iii)-4,(iv)-2

(D) (i)-2, (ii)-I,(iii)-4, (iv)-3
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129. The following statements are given in the context
of Kautilya*s currency system:

1. The exchange rate of gold and silver was

fixed at 12 = 200 or 1 = 16*67.

2. The standard coin was 'Paan', besides

this, smaller coins like Ardha Paan

(Athanni), Padpan (Chavanni) and

Ashtabhag (Duanni) were in circulation.

3. They used to work as a medium of

currency exchange and a receiver

medium for depositing money in the

treasury.

Codes:

(A) Only 1 and 2 are correct

(B) Only 2 and 3 are correct

(C) Only 1 and 3 are correct

(D) 1, 2 and 3 all are correct

130. Consider the following statements regarding
non-bank financial intermediaries and

commercial banks:

1. Non-bank financial intermediaries can

create liquidity, but cannot create money.

2. Non-bank financial intermediaries insist

on higher collateral than banks.

3. Both commercial banks and non-bank

financial intermediaries create demand

deposits by borrowing from the Central

bank.

Choose the correct option :

(A) Only 1 is correct

(B) Only 1 and 2 are correct

(C) Only 2 and 3 are correct

(D) 1, 2 and 3 all are correct

131. Which of the following is not correct regarding
Regional Rural Banks in India ?

(A) They were established based on the

recommendations of Narsimham working

group.

(B) The first five RRBs were established in

1975.

(C) They are regulated by NABARD.

(D) They are jointly owned by Government of

India, State governments and the sponsoring

' commercial bank's.

132. The Reserve Bank has opened a number of
training colleges for training banking personnnel.
Match the names of training colleges given in
List-I with their locations'in List-II:

List-I ' List-II

(i) Bankers Training 1. Pune

College (BTC)

(ii) Reserve Bank Staff 2. Mumbai

College (RBSC) -

(iii) College of

Agricultural

Banking (CAB)

(iv) Zonal Training

College (ZTC)

3. Chennai

4. Mumbai,

Kolkata,

Chennai and

New Delhi

Codes:

(A) (i)-2, (ii)-3, (iii)-l, (iv)-4

(B) (i)-4, (ii)-3. (iii)-2, (iv)-l

(C) (i).3, (ii)-l, (iii)-4, (iv)-2

(D) (i)-2, (ii)-l, (iii)-4. (iv)-3
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133. 31^ ̂  3RFfcr

l^d'D ?

(A) 30

(B) 51

(C) 35

(D) 21

134. 3TT^OT^h5RTtel%Bi^iN?r|?

(A) =Q

(B)

(C)

(D)

135. ̂ 'NM [^<^HI 'W-^1J|'IK'MI'3HI cfjoi yK*-'*T^sft?
(A) 06 2022

(B) 06 2023

(C) 06 3^^,2022

P) 06 3^^^,2023

136.

wm?

(A) ̂ T?RT

(B)

(C) M

P)

^t?

(A)

p)

(C)

P) imter

138. ̂ 2011^^5RnnRT%3q5^,

(A) 226

P) 236

(C) 241

P) 243

139. y,*=ti — y,<+> -dcMid ̂ frxRT% si^-d^fcT ^
3?TK % "f^ ^ ^3Tr % ?

(A)

P)

(C)

P) W

140. WcT'^^dlBldi <^dl ^icii :

(A)

P)

(C) JT^3I^

P)

141. f^nf^R^d ?

1. 3?^^ 2024 Tt, 11^ 31^ ̂  ̂TRcT Tt ̂
(3T^ ̂  317^ t ̂  WZ

tl

2. ̂  31^ ̂  ■^fk ^Tsrf TOTT "t ^TRd^ ^
WFTtl

:

(A) %^l^t
P) %^2B^%
(C) n3;^2^^t
p) 11^2 ii^no f

142. y^iii Rhd^ %?

(A) 9

P) 10

(C) II

P) 12
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133. How many castes have been notified in Madhya
Pradesh, under Vimukta, Ghuraantu and

Ardh-Ghumantu ?

(A)

(B)

(C)

(D)

30

51

35

21

134.. Akanksha Yojana is related to :

(A) Competitive exams for Scheduled Tribe

students

(B) Sports for Scheduled Tribe students

(C) Scholarship for Scheduled Tribe students

(D) None of the above

135. When was Bhagwan Birsa Munda
Self-employment scheme started ?

(A) 06 September, 2022 ,

(B) 06 September, 2023

(C) 06 October, 2022

(D) 06 October, 2023

136. Where was the first cement factory established in
Madhya Pradesh ?

(A) Satna

(B) Banmore (Morena)

(C) Rewa

(D) Sidhi

137. At which place is India's first green-field SEZ in
Madhya Pradesh located ?

(A) Pithampur
(B) Ujjain

(C) Jabalpur

(D) Gwalior

138. According to the Census of 2011, the density of

"  population (per'sq". of Madhya Pradesh was :

(A) 226 nf:"- ,
(B) 236

(C) 241

(D) 243

139. Which district has been selected for Kodo-Kutki

product in Madhya Pradesh under One District -

One Product scheme ?

(A) Shahdol

(B) Neemuch

(C) Dindori

(D) Panna

140. Which state practices the maximum organic

farming in India ?

(A) Kamataka

(B) Bihar

(C) Madhya Pradesh

(D) Chhattisgarh

141. Which of the following statements is/are correct?

1. In October 2024, Madhya Pradesh ranked

6th in India in total renewable energy

supply.

2. In solar energy capacity, Madhya Pradesh

ranked 4th in India.

Options :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are incorrect

142. Madhya Pradesh is divided into how many
agro-climatic zones ?

(A) 9
(B) 10

(c) n

(D) 12 ■
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WM
143. ^ t % smw

^iiHd (^.T^.TT^r.STt.)otMm

^nlt?

(A)

(D) Pi-mIho

144. —

U^klTPfK dTTSftf^cCTliRH ?

(A) ̂ IHlRl«t) ̂ 1^

(B) ̂ TPnteWT^

(C) krfkiPTk^

145. kHf^Tfkcr#%feT%^^^TT4^Elf^^%^31wkt'

"R^W ̂  ̂ k^iT WI ?

(A) ̂ Kd ̂cfl ̂ cij^^ct)cry

(B) ^TKcT f^Piis

(C)

(D) krfe^wiwTl^Tftfe

146. TT^ dll^fk^H ® (NLP) % ^ 1MMw
<^^dl ̂  [^"ciK cQf^y.:

1. dll^lkd^ -flld 2024 I

2. =ftk W % dll^fkd^

(LPI) \f^'l ^ ̂ 2030
^25Mt^TRTtl

3. oznw krWkw ^ftor

(CLAP)OT^-dlf^dtl

-dRu.:

(A) lXTt2^Wtt

(B) 2 'Jjd 3 dldl ^

(C)

(D) l,2T?:t3^B^t

147. 4)1^ •^dJNHI 2015- 16%^5R?TR,M«4ff^%3^=^
■ailfll % ^^ild

"^ii ^ yftcfr 3lf^1=F % ?

(A) ^fkicT
(B) TTWT

(C)

(D)

148. ^iki^3TRk^^snwfer^^^Tj|sft-?
(A) 1960

(B) 1965

(C) 1970

(D) 1975

149. Ml^[^4) ̂  # fdHf^fi^d Wt ̂

1. ^ ̂144) % I

2. ^TKcT ^n4)f^ ̂ licft % ^ 4Jtf ^

<rl^ I^<^)crM -^Piy.:
(A) 1 ̂ krt
(B) %^2^T^%
(C) lT^424k1
(D) lT^^2 4Hklddt

150. ante lET^^ 2024-25 %3R^TKlk#ftert^
W 4>SPT '^'t ?

(A) 45R^^3?ik^'RWft^PlK^^R4ikt I
(B) ^ ̂TKcf % [^RhFui ePBH

16 >ilai(ia 5ai % 1
(C)

Md+t I
(D) 4^r ^R44) ^ afrr TTtoR #

4yldiild^4lJKHt I
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143. Which of the following concepts of
unemployment is developed by the National
Sample Survey Office (NSSO) ?

(A) Labour Unemployment Status

(B) Current Weekly Status Unemployment

(C) Workforce Participation Unemployment

(D) Regular Unemployment Status

144. Which one of the following is not a core
component of Deendayal Antyodaya Yojana —
National Rural Livelihoods Mission ?

(A) Social Health

(B) Social Mobilisation

(C) Financial Inclusion

(D) Social Inclusion

145. Which of the following Central Public Sector

enterprise has been awarded the "Maharatna"
status ?

(A) Bharat Heavy Electricals Ltd.

(B) Bharat Electronics Ltd.

(Q Engineers India Ltd.

(D) Rail Vikas Nigam Ltd.

146. Consider the following statements about National

Logistics Policy:

1. National Logistics Policy has been launched

in 2024.

2. The aim of this policy is to improve India's
Logistics Performance Index (LPI) ranking
and bring it among the top 25 countries by
2030.

3. Its implementation is driven by a

comprehensive logistics action plan (CLAP).

Choose the correct option:

(A) Both 1 and 2 are correct

(B) Both 2 and 3 are correct

(C) Both 1 and 3 are correct

(D) All 1,2 and 3 are correct

147. As per the Agriculture Census 2015 - 16
regarding the 'distribution of operational land
holdings under floriculture, which kind of land

holding holds the. highest share in total land
holding under floriculture ?

(A) Marginal

(B) Medium

(C) Large

(D) Very large

148. The Agricultural Price Commission was set up in
the year:

(A) 1960

(B) 1965

(C) 1970

(D) 1975

149. Consider the following statements regarding
natural farming:

1. It is the same as organic farming.

2. There is no regional variation in natural

farming practices in India.

Choose the correct option :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are incorrect

150. Which of the following statements is not correct
as per Econoniic Survey 2024 - 25 ?

(A) The Textile industry is a major employment

generator.

(B) It accounts for about 16 percent of India's

manufacturing GVA.

(C) India is the 6th largest exporter of textiles

and apparel in the world.

(D) India has a share of 4 percent in global trade

'  in textiles and apparel.
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